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A big potato weighs about
1/4 kg on the scales.

Roughly, what would be 
the weight on the scales
of 10 big potatoes?
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A bottle of medicine holds
35 millilitres.
A teaspoon holds 5
millilitres.
How many teaspoons of 
medicine are in the bottle?
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An egg weighs about
50 grams.

Roughly how much would
6 eggs weigh?
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You have £5. Some toys 
are priced £2.70, £1.80,
£1.40, £1.60, £2.20 and
£1.20.

Investigate which three you
could buy.
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Two rolls of tape are 35 cm
and 41 cm long.

What is their total length?

What is the difference in
their lengths?
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Small pizzas cost:
£4.20, £4.40, £4.50, £3.80,
£4.25
Big Pizzas cost:
£5.50, £5.75, £6.00, £4.95,
£5.40
Which two pizzas can you buy
for exactly £10.00?
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